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MODEL TEST PAPER–2
CLASS–VIII (2024-25)

MATHEMATICS

Time allowed : 3 hours Maximum Marks : 80

General Instructions :

1. The question paper consists of five sections :

• Section I  : Question No. 1 to 20 are of 1 mark each (18 are MCQ Type

and 2 are Assertion-Reasoning type questions).

• Section II : Question No. 21 to 25 are Short Answer Type-1 questions

of 2 marks each.

• Section III : Question No. 26 to 31 are Short Answer Type-2 questions

of 3 marks each.

• Section IV : Question No. 32 to 35 are Long Answer Type questions of

5 marks each.

• Section V : Question No. 36 to 38 are of Case Based questions. Each

case study has 3 case based sub parts, two are of 1 mark each and third

sub part is a short answer type (2 marks) having internal choice.

2. Please write the serial number of the question before attempting it.

3. In questions of constructions/graph, the drawing should be neat, clean

and exactly as per given measurements. Use ruler and compass only.

4. All questions are compulsory. However, internal choices have been given in

some questions.
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lkekU; funsZ'k %

1- iz'u i=k osQ 5 [akM gSaA

• [kaM I esa iz'u la[;k 1 ls 18 rd cgqfodYih; iz'u gSa o iz'u la[;k 19 o

20 vfHkdFku&dkj.k iz'u gSaA izR;sd iz'u ,d vad dk gSA

• [kaM&II esa iz'u la[;k 21 ls 25 y?kq mÙkjh; izdkj&1 osQ iz'u gSa] ftuesa ls

izR;sd osQ 2 vad gSaA

• [kaM&III esa iz'u la[;k 26 ls 31 y?kq mÙkjh; izdkj&2 osQ iz'u gSa] ftuesa ls

izR;sd osQ 3 vad gSaA

• [kaM&IV esa iz'u la[;k 32 ls 35 nh?kZ mÙkjh; iz'u gSa] ftuesa ls izR;sd osQ 5

vad gSaA

• [kaM&V esa iz'u la[;k 36 ls 38 osQl LVMh vk/kfjr iz'u gSaA izR;sd osQl LVMh

esa 3 osQl vk/kfjr mi&Hkkx gSaA buesa ls nks y?kq mÙkjh; 1&1 vad osQ gSa vkSj

rhljk miHkkx ,d laf{kIr mÙkjh; 2 vad dk iz'u gS ftlesa vkarfjd fodYi

gSA

2. oaQLVªD'ku@xzkiQ osQ iz'uksa esa Mªkbax lkiQ&lqFkjh vkSj fn, x, eki osQ vuqlkj gksuh pkfg,A

:yj vkSj oaQikl dk gh iz;ksx djsaA

3. o`Qi;k iz'u dk iz;kl djus ls igys iz'u i=k osQ vuqlkj gh iz'u la[;k fy[ksaA

4. lHkh iz'u vfuok;Z gSaA oqQN iz'uksa esa vkarfjd fodYi fn, x, gSaA
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                  Section-A ([kaM&I)

1. The value of 
3

0.09  is

3
0.09

  dk eku gSμ

(a)
1

10
(b)

3
10

(c) 1 (d) 10

2. The value of 3 3358 211 125+ +  is :

3 3358 211 125+ +  dk eku gS %

(a) 4 (b) 16

(c) 64 (d) 8

3. The value of 16
5/2 ÷ (256)¼ is

16
5/2 ÷ (256)¼ dk eku gSμ

(a) 250 (b) 256

(c) 16 (d) 4

4. Which of the following varies directly ?
(a) Distance travelled and the taxi fare.
(b) Number of men and time taken to finish the job.
(c) Speed of the car and time taken to cover a particular distance.
(d) Number of pipes used to fill a tank and time taken to fill it.

fuEufyf[kr esa ls dkSu lk lh/k fHkUu gksrk gSμ

(a) r; dh xbZ nwjh vkSj VSDlh dk fdjk;kA

(b) O;fDr;ksa dh la[;k vkSj dke lekIr djus esa fy;k x;k le;A

(c) dkj dh xfr vkSj ,d fuf'pr nwjh r; djus esa yxk le;A

(d) ,d VSad dks Hkjus osQ fy, iz;qDr ikbiksa dh la[;k rFkk mls Hkjus esa yxk le;A



255

5. Avi bought a tape recorder for ` 8000 and sold it to Bobby. Bobby

in turn sold it to Charu, each earning a profit of 20%. Which of the

following is true ?

(a) Avi and Bobby earn the same profit.

(b) Avi earns more profit than Bobby.

(c) Avi earns less profit than Bobby.

(d) Cannot be decided.

vfo us 8000 #i;s esa ,d Vsi fjdkWMZj [kjhnk vkSj ckWch dks csp fn;kA ckWch us

cnys esa bls pk# dks csp fn;k] nksuksa us 20% dk ykHk dek;kA fuEufyf[kr esa ls

dkSu lk lR; gSμ

(a) vfo vkSj ckWch dks leku ykHk feyrk gSA

(b) vfo us ckWch ls vf/d ykHk dek;kA

(c) vfo us ckWch ls de ykHk dek;kA

(d) r; ugha fd;k tk ldrkA

6. If the selling price of a shirt is 
3
2

 times of its cost price, then the

profit percent is :

;fn ,d deht dk foozQ; ewY; mlosQ ozQ; ewY; dk 
3
2
 xq.kk gS] rks ykHk izfr'kr

gSμ

(a)
1

20 %
2

(b)
1

25 %
4

(c)
1

33 %
3

(d) 50%
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7. Snehil wants to do a one year deposit. For getting maximum returns,

she should opt for-

(a) a simple interest of 10%.

(b) a compound interest of 10% compounded annually.

(c) a compound interest of 10% compounded half yearly.

(d) a compound interest of 10% compounded quarterly.

Lusfgy ,d o"kZ osQ fy, fMikWftV djuk pkgrh gSA vf/dre fjVuZ ikus osQ fy, mls

fuEufyf[kr dk fodYi pquuk pkfg,μ

(a) 10% dk lk/kj.k C;ktA

(b) 10% dk okf"kZd pozQo`f¼ C;ktA

(c) 10% dk pozQo`f¼ C;kt v/Zokf"kZd :i ls la;ksftr gksrk gSA

(d) 10% dk pozQo`f¼ C;kt =kSekfld :i ls la;ksftr gksrk gSA

8. Factorised form of x2 + 4y2 + 9z2 – 4xy + 12yz – 6zx is

x2 + 4y2 + 9z2 – 4xy + 12yz – 6zx dk xq.ku[kaM :i gSμ

(a) (– x – 2y + 3z)2 (b) (– x + 2y + 3z)2

(c) (x – 2y + 3z)2 (d) (x + 2y – 3z)2

9. If xy2k = (4xy + 3y)2 – (4xy – 3y)2, then value of k is

;fn xy2k = (4xy + 3y)2 – (4xy – 3y)2 gS] rks k dk eku gSμ

(a) 14 (b) 48

(c) – 14 (d) – 48



257

10. In the given figure, AB || CD and l is a transversal. EG is the

bisector of ∠AEF, then the value of x is

nh xbZ vko`Qfr esa] AB || CD vkSj l ,d fr;Zd gSA EG dks.k ∠AEF dk lef}Hkktd

gS] rks x dk eku gSμ

(a) 20° (b) 30°

(c) 10° (d) 50°

11. In the given figure, AB || CD. The value of x + y is

nh xbZ vko`Qfr esa] AB || CD. x + y dk eku gSμ

(a) 180° (b) 230°

(c) 140° (d) 80°

C F

G

B

D

E

l

A

x +
 20

x + 50

A P R B

x

y

C Q D

30°

110°
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12. In the given figure, ABCD is a parallelogram. The value of x is

nh xbZ vko`Qfr esa] ABCD ,d lekarj prqHkqZt gSA x dk eku gSμ

(a) 10 (b) 15

(c) 5 (d) 20

13. The abscissa of a point is its distance from the

(a) Origin (b) x-axis

(c) y-axis (d) Point (x, y)

fdlh fcanq dk Hkqt mldh osaQnz ls nwjh gSμ

(a) ewy fcUnq (b) x-v{k

(c) y-v{k (d) fcUnq x-v{k

14. The graph of y = a is

(a) the x-axis

(b) the y-axis

(c) a line parallel to the y-axis

(d) a line parallel to the x-axis

y = a dk vkys[k gSμ

(a) x-v{k (b) x-v{k

(c) y-v{k osQ lekarj js[kk (d) x-v{k osQ lekarj js[kk

4 (  + 5) cmx

(5  + 5) cmxA B

CD

60 cm
60 cm
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15. If the capacity of a cylindrical tank is 1848 cm3 and the diameter
of its base is 14 m, the depth of the tank is

;fn ,d csyukdkj VSad dh {kerk 1848 ?ku ehVj gS vkSj blosQ vk/kj dk O;kl

14 ehVj gS] rks VSad dh xgjkbZ gSμ

(a) 8 m (b) 12 m

(c) 16 m (d) 18 m

16. Five equal cubes, each of edge 5 cm, are placed adjacent to each
other. The volume of the cuboid so formed is

ik¡p cjkcj ?ku] ftuesa ls izR;sd dh Hkqtk 5 lseh- gS] ,d nwljs osQ vklUu j[ks gq,

gSaA bl izdkj cus ?kukHk dk vk;ru gSμ

(a) 125 cm3 (b) 375 cm3

(c) 525 cm3 (d) 625 cm3

17. If a card is drawn from a well-shuffled deck of 52 cards, then the
probability of getting a red face card is :

rk'k osQ vPNh rjg isaQVs x, 52 iRrksa esa ls ,d yky rLohj okyk iRrk fudkyus

dh izkf;drk gksxh %

(a)
1
2

(b)
3

13

(c)
3

26
(d)

1
52

18. If the class mark of a class interval is 12.5 and the class size is 8,
then the uppr limit of the class interval is :

;fn fdlh oxZ varjky dk oxZ fpg~u 12.5 gS vkSj oxZ eki 8 gS rks ml oxZ varjky

dh mPp oxZ lhek gSμ

(a) 20.5 (b) 16.5

(c) 15 (d) 8.5
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Direction : In question numbers 19 and 20, a statement of Assertion
(A) is followed by a statement of Reason (R). Choose the correct
option out of the following :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not
the correct explanation of Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

iz'u la[;k 19 vkSj 20 osQ fy, nks dFku fn, x, gSaμ,d dks vfHkdFku (A)

vkSj nwljs dks dkj.k (R) dgk x;k gSA uhps fn, x, owQV@dksM (a), (b), (c)

vkSj (d) ls bu iz'uksa osQ lgh mÙkj dk p;u dhft, %

(a) vfHkdFku vkSj dkj.k nksuksa lR; gSa vkSj dkj.k vfHkdFku dh lgh O;k[;k djrk gSA

(b) vfHkdFku vkSj dkj.k nksuksa lR; gSa ysfdu dkj.k vfHkdFku dh lgh O;k[;k ugha

djrk gSA

(c) vfHkdFku lR; gS ysfdu dkj.k vlR; gSA

(d) vfHkdFku vlR; gS ysfdu dkj.k lR; gSA

19. Assertion (A) : 3 27 1
216 2

=

Reason (R) : am ÷ an = am–n, where a be any non zero rational

number and m and n be integers.

vfHkdFku (A) : 3 27 1
216 2

=

dkj.k (R) : dksbZ Hkh 'kwU;srj ifjes; la[;k a osQ fy, am ÷ an = am–n tgk¡ m

vkSj m iw.kk±d gSaA
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20. Assertion (A) : If 24 men can dig a trench in 7 days, it takes 12

days by 10 men to dig a similar trench.

Reason (R) : When two quantities x and y are in inverse proportion

then x × y is a constant.

vfHkdFku (A) : ;fn 24 vkneh ,d xM~<k 7 fnu esa [kksn ldrs gSa] rks 10 vkneh

mlh xM~<s dks [kksnus esa 12 fnu ysaxsA

dkj.k (R) : tc nks jkf'k;k¡ x vkSj y O;qRozQe vuqikr esa gksa rks x × y ,d fLFkjkad

gSA

Section-II ([kaM&II)

21. If  3 12 9,x − =  find the value of x.

;fn 3 12 9x − =  gS] rks x dk eku Kkr dhft,A

OR (vFkok)

Find the value of 3 17
3

27
− .

3 17
3

27
−  dk eku Kkr dhft,A

22. Meena sells a pen for ` 54 and loses 
1

10
 of the cost price. Find the

cost price of the pen.

ehuk us ,d isu 54 #i;s esa cspk vkSj mls ozQ; ewY; osQ nlosa Hkkx osQ cjkcj gkfu

gqbZA isu dk ozQ; ewY; Kkr dhft,A
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23. If 
2

2
1

18,a
a

+ =  find the value of 
1

a
a

− .

;fn 
2

2
1

18a
a

+ =  gS rks 
1

a
a

−  dk eku Kkr dhft,A

OR (vFkok)

Evaluate (10.1)2 using a suitable identity.

mfpr loZlfedk dk iz;ksx djosQ (10.1)2 dk eku Kkr dhft,A

24. In the given figure l || m || n and p is a transversal. If ∠1 = 130°,

find a : b.

nh xbZ vko`Qfr esa l || m || n vkSj p ,d fr;Zd gSA ;fn ∠1 = 130° gS] rks a : b

Kkr dhft,A

25. The pie chart depicts the information of the employees of a company

watching different types of channels on television. If the News

channel is viewed by 75 employees, find the total number of

employees of the company.

l

m

n

a

b

p

130°
1
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o`Ùkfp=k ,d oaQiuh osQ deZpkfj;ksa dh tkudkjh n'kkZrk gS tks Vsyhfotu ij fofHkUu

izdkj osQ pSuy ns[krs gSaA ;fn lekpkj pSuy 75 deZpkfj;ksa }kjk ns[kk tkrk gS] rks

oaQiuh osQ deZpkfj;ksa dh oqQy la[;k Kkr dhft,A

Section-III ([kaM&III)

26. If  2x–1 + 2x+1 = 320, then find the value of x.

;fn 2x–1 + 2x+1 = 320 gS] rks x dk eku Kkr dhft,A

OR (vFkok)

Evaluate : 

1 1
4 3 2

1 1
63 4

3 216 25

125 16 3

−
−

−

× ×

× ×

eku Kkr dhft, % 

1 1
4 3 2

1 1
63 4

3 216 25

125 16 3

−
−

−

× ×

× ×

News
15%

Entertainment

50%

Informative

10%

Sports

25%

euksjatu

lekpkj

tkudkjhiw.kZ

[ksy
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27. A hostel had food provision for 60 days for 500 students. After 12
days, 300 more students joined the hostel. How long will the remaining
food last ?

,d Nk=kkokl esa 500 Nk=kksa osQ fy, 60 fnuksa osQ Hkkstu dk izko/ku FkkA 12 fnuksa

osQ ckn] 300 vkSj Nk=k Nk=kkokl esa 'kkfey gks x,A cpk gqvk Hkkstu fdrus fnuksa

rd pysxk\

OR (vFkok)
A train 270 m long is running at 80 km/hr. It crosses a tunnel in
18 seconds. Find the length of the tunnel.

270 ehVj yEch ,d jsyxkM+h 80 fdeh- izfr ?kaVk dh xfr ls nkSM+ jgh gSA ;g ,d

xqiQk dks 18 lSd.M esa ikj djrh gSA xqiQk dh yEckbZ Kkr dhft,A

28. Using factor method, divide the polynomial y2 – 2y – 35 by (y – 7).

xq.ku[kaM fof/ dk iz;ksx djosQ] cgqin y2 – 2y – 35 dks y – 7 ls Hkkx dhft,A

29. A bank gives 10% Simple Interest (S.I.) on deposits by senior
citizens.

Deposit (in `) 100 250 300 500

Annual S.I. (in `) 10 25 30 50

Using the data given above, draw a line graph illustrating the
relation between the sum deposited and simple interest earned.

,d cSad ofj"B ukxfjdksa }kjk tek dh xbZ jkf'k ij 10% lk/kj.k C;kt nsrk gSA

tek jkf'k (#i;ksa esa) 100 250 300 500

okf"kZd lk/kj.k C;kt (#i;ksa esa) 10 25 30 50

fn;s x, mijksDr vkaadM+ksa dk iz;ksx djosQ] tek dh xbZ jkf'k vkSj vftZr lk/kj.k

C;kt osQ chp laca/ dks n'kkZus okyk ,d jSf[kd vkys[k cuk,¡A
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Alternate Question for Visually Challenged students in lieu of

Q. No. 29

iz'u la[;k 29 osQ LFkku ij n`f"Vckf/r Nk=kksa osQ fy, oSdfYid iz'uA

29. The age of Ravi and Hema are in the ratio 5 : 7. Four years later,

their ages will be in the ratio 3 : 4. Find their present ages.

jfo vkSj gsek dh vk;q dk vuqikr 5 : 7 gSA pkj o"kZ ckn] mudh vk;q dk vuqikr

3 : 4 gksxkA mudh orZeku vk;q Kkr dhft,A

30. The area of a trapezium is 405 cm2. Its parallel sides are in the ratio

4 : 5 and distance between them is 18 cm. Find the length of each

of the parallel sides.

,d leyac dk {ks=kiQy 405 oxZ lseh- gSA bldh lekarj Hkqtkvksa dk vuqikr 4 : 5

vkSj muosQ chp dh nwjh 18 lseh- gSA lekarj Hkqtkvksa dh yEckbZ Kkr dhft,A

31. The heights (in cm) of 22 students were recorded as under :

125, 132, 138, 144, 142, 136, 134, 125, 135, 130, 126, 132, 135,

142, 143, 128, 126, 136, 135, 130, 130, 133

Prepare a frequency distribution table of equal class size using class

interval 125-130, 130-135 etc.

22 Nk=kksa dh mQ¡pkbZ (lseh- esa) fuEukuqlkj ntZ dh xbZμ

125, 132, 138, 144, 142, 136, 134, 125, 135, 130, 126, 132, 135,

142, 143, 128, 126, 136, 135, 130, 130, 133

cjkcj oxZ eki osQ oxZ&vUrjky 125-130, 130-135 vkfn dk iz;ksx djosQ ,d

ckjEckjrk lkj.kh cukb,A
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Section-IV ([kaM&IV)

32. The cost of levelling a square lawn at ` 15 per square metre is

` 10935. Find the cost of fencing the square lawn at ` 25 per metre.

15 #i;s izfr oxZ ehVj dh nj ls ,d oxkZdkj ykWu dks lery djus dh ykxr

10935 #i;s gSA 25 #i;s izfr ehVj dh nj ls oxkZdkj ykWu ij ckM+ yxkus dh ykxr

Kkr dhft,A

OR (vFkok)

The students of class VIII A of a school donated some amount to

the Prime Minister’s National Relief Fund. Each student donated as

many rupees as the number of students in the class. The class

teacher donated the same amount as much as donated by the whole

class. If the total money donated is ` 6272, find the number of

students in the class and money donated by the class teacher.

,d fo|ky; osQ d{kk VIII A osQ Nk=kksa us iz/kuea=kh jk"Vªh; jkgr dks"k esa oqQN jkf'k

nku dhA izR;sd Nk=k d{kk osQ Nk=kksa dh la[;k osQ cjkcj jkf'k nku djrk gSA d{kk

vè;kid us iwjh d{kk }kjk nku dh xbZ jkf'k osQ cjkcj nku fn;kA ;fn nku dh xbZ

oqQy jkf'k 6272 #i;s gS] rks d{kk osQ Nk=kksa dh la[;k vkSj d{kk vè;kid }kjk nku

dh xbZ jkf'k Kkr dhft,A

33. Divide [3x (5x2 + 3x3 + 2) – (2x2 + 8 – x)] by (– 2 + 3x) and check

your answer.

cgqin [3x (5x2 + 3x3 + 2) – (2x2 + 8 – x)] dks (– 2 + 3x) ls Hkkx dhft,

vkSj vius mÙkj dh tk¡p dhft,A
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34. Construct a quadrilateral PQRS in which PQ = 5 cm, QR = 4 cm,

∠P = 75°, ∠Q = 105° and ∠R = 75°. What type of quadrilateral is

it ?

,d prqHkqZt PQRS dh jpuk dhft,] ftlesa PQ = 5 lseh-, QR = 4 lseh-,

∠P = 75°, ∠Q = 105° vkSj ∠R = 75° gSA ;g fdl izdkj dk prqHkqZt gS\

Alternate Question for Visually Challenged students in lieu of

Q. No. 34

iz'u la[;k 34 osQ LFkku ij n`f"Vckf/r Nk=kksa osQ fy, oSdfYid iz'uA

34. The difference between simple interest and compound interest

(compounded annually) on a sum of money for 2 years at 10% per

annum is ` 65. Find the sum.

fdlh jkf'k ij nks o"kZ osQ fy, 10% dh okf"kZd nj ls pozQo`f¼ C;kt vkSj lkèkkj.k

C;kt essa ` 65 dk varj gS] tcfd C;kt okf"kZd la;ksftr gksrk gSA jkf'k Kkr dhft,A

35. A wall 15 m long, 30 cm wide and 4 m high is made of bricks, each

measuring 18 cm × 12.5 cm × 7.5 cm. If 
th1

10
⎛ ⎞
⎜ ⎟
⎝ ⎠

 of the total volume

of the wall consists of mortar, how many bricks are there in the

wall ?

15 ehVj yach] 30 lseh- pkSM+h vkSj 4 ehVj mQ¡ph ,d nhokj b±Vksa ls cuh gS] izR;sd

b±V dh eki 18 lseh- × 12.5 lseh- × 7.5 lseh- gSA ;fn nhokj osQ oqQy vk;ru

dk 
1

10
 Hkkx lhesaV gS] rks nhokj esa fdruh b±Vsa gSa\

OR (vFkok)



268

The external dimensions of a closed wooden box are 48 cm × 36 cm

× 30 cm. The box is made up of 1.5 cm thick wood. How many bricks

of size 6 cm × 3 cm × 0.75 cm can be put in this box ?

,d can ydM+h osQ fMCcs dh ckgjh foek,¡ 48 lseh- × 36 lseh- × 30 lseh- gSaA

fMCck 1.5 lseh- eksVh ydM+h ls cuk gSA bl fMCcs esa 6 lseh- × 3 lseh- × 0.75 lseh-

dh vkdkj dh fdruh b±Vsa j[kh tk ldrh gSa\

Section-V ([kaM&V)

(Case Study)

36.

Rabbit farming provides an additional source of income in the rural

areas. Rabbits are used to get fine quality of wool, fur etc.

In a particular farm, the population growth rate of rabbits was

found to be 60% per year. The current population of rabbits in the

year 2020 is 5120.

Based on the above information, answer the following questions :
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(1) What would be the rate of growth, if population is estimated

semi-annually ? (1)

(2) What was the population size two years ago ?

OR

Find the population after 2 years. (Round off the answer in

whole number). (2)

(3) If suddenly 120 rabbits die in the year 2020 then find the

number of rabbits increased in next one year. (1)

xzkeh.k {ks=kksa esa [kjxks'k ikyu vk; dk ,d vfrfjDr L=kksr iznku djrk gSA [kjxks'kksa

dk mi;ksx mQu] iQj vkfn dh vPNh xq.koÙkk izkIr djus osQ fy, fd;k tkrk gSA

,d fo'ks"k iQkeZ esa] [kjxks'kksa dh tula[;k o`f¼ nj izfr o"kZ 60% ikbZ xbZA o"kZ 2020

esa [kjxks'kksa dh orZeku tula[;k 5120 gSA

mijksDr tkudkjh osQ vk/kj ij fuEufyf[kr iz'uksa osQ mÙkj nhft,μ

(1) ;fn tula[;k dk vuqeku v/Zokf"kZd :i ls yxk;k tk,] rks o`f¼ dh nj D;k

gksxh\ (1)

(2) nks o"kZ igys tula[;k dk vkdkj D;k Fkk\

vFkok

nks o"kZ ckn tula[;k dk irk yxk,¡A (mÙkj dks iw.kZ la[;k esa iw.kk±fdr djsa) (2)

(3) ;fn o"kZ 2020 esa vpkud 120 [kjxks'k ej tkrs gSa] rks vxys ,d o"kZ esa [kjxks'kksa

dh la[;k esa o`f¼ Kkr dhft,A (1)
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37.

The Nauchandi Mela is an annual fair held at Nauchandi ground in

Meerut. The fair stretches for about a month and witnesses more

than 50,000 visitors every year.

Arun and Neena went to their grandmother place specially to visit

this mela. Each day both need to purchase the entry ticket of ` 20

each. Their expenditure on rides on the three days is given in the

table below.

Number of Rides Neena Arun

Day 1 4 5

Day 2 6 6

Day 3 5 5

Based on the above information, answer the following questions :
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1. Taking cost of Neena’s ride to be as ` x per side, find the

mathematical expression representing Neena’s expenditure on

Day 1. (1)

2. If the ratio of Neena’s expenditure on day 1 to that of day 2,

is 11 : 16, find the cost of Neena’s ride.

OR

The cost of Arun’s ride is 
3
2

 times Neena’s ride. Together they

spent ` 615 on day 1. Find the cost of Arun’s ride. (2)

3. Find the total expenditure of Neena and Arun on the rides on

day 3, if all ride cost ` 50 on that day. (1)

ukSpanh esyk esjB osQ ukSpanh eSnku esa vk;ksftr gksus okyk ,d okf"kZd esyk gSA ;g

esyk yxHkx ,d eghus rd pyrk gS vkSj gj lky 50,000 ls vf/d vkaxrqd blesa

vkrs gSaA v#.k vkSj uhuk fo'ks"k :i ls bl esys dks ns[kus osQ fy, viuh nknh osQ

?kj x, FksA

izR;sd fnu nksuksa dks 20-20 #i;s dk izos'k fVdV [kjhnuk gksxkA rhu fnuksa esa mudh

lokjh ij [kpZ uhps nh xbZ rkfydk esa fn;k x;k gSA

lokjh dh la[;k uhuk v#.k

igyk fnu 4 5

nwljk fnu 6 6

rhljk fnu 5 5

mijksDr tkudkjh osQ vk/kj ij fuEufyf[kr iz'uksa osQ mÙkj nhft,μ

(1) uhuk dh lokjh dh ykxr x #i;s izfr lokjh ysrs gq,] igys fnu uhuk osQ [kpZ

dk izfrfufèkRo djus okyk xf.krh; O;atd Kkr dhft,A
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(2) ;fn igys fnu uhuk osQ [kpZ dk nwljs fnu osQ [kpZ ls vuqikr 11 : 16 gS] rks

uhuk dh lokjh dh ykxr Kkr dhft,A

(vFkok)

v#.k dh lokjh dh ykxr uhuk dh lokjh dk 
3
2
 xquk gSA nksuksa us feydj

igys fnu 615 #i;s [kpZ fd,A v#.k dh lokjh dh ykxr Kkr dhft,A

(3) rhljs fnu uhuk vkSj v#.k dk lokjh ij oqQy [kpZ Kkr dhft,] ;fn ml fnu

lHkh lokjh ij [kpZ 50 #i;s FkkA

38.

Nidhi designed a necklace made of pearls and metal pieces, trapezoid
in shape. One such piece is shown below.

Nidhi wants to join two pieces together to form an earing as shown
below.

(i) Justify that the shape obtained is a parallelogram. (1)

piece 1

a b

piece 2

a

b

cc
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(ii) Establish a relationship among a, b and c if she wants to form
a rhombus shaped earning. (1)

(iii) In the given figure, if ∠1 = 40° and ∠3 = 2∠2, then, find the
measure of ∠4.

OR

If a : b = 2 : 3, c = 10 mm and perimeter of the trapezium is 40
mm, find the values of a and b. (2)

fuf/ us eksfr;ksa vkSj /krq osQ VqdM+ksa ls cus gkj ij fMtkbu cuk;k gS] tks leyEc

vkdkj dk gSA ,slk gh ,d VqdM+k uhps fn[kk;k x;k gSA

fuf/ nks VqdM+ksa dks ,d lkFk tksM+dj ,d ckyh cukuk pkgrh gS tSlk fd uhps fn[kk;k

x;k gSA

a

b

c

1

2
3

c

4

a

b

cc

Hkkx 1

a b

Hkkx 2



274

(1) fl¼ djsa fd izkIr vko`Qfr ,d lekarj prqHkqZt gSA

(2) ;fn og leprqHkqZt vkdkj dh ckyh cukuk pkgrh gS rks a, b vkSj c osQ chp

laca/ LFkkfir djsaA

(3) nh xbZ vko`Qfr esa] ;fn ∠1 = 40° vkSj ∠3 = 2∠2, rks ∠4 dh eki Kkr

dhft,A

(vFkok)

;fn a : b = 2 : 3, c = 10 feeh- vkSj leyac dk ifjeki 40 feeh- gS] rks a

vkSj b dk eku Kkr dhft,A

a

b

c

1

2
3

c

4


